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1HJHUL���.RWD�3DGDQJ

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� ���� LPSOHPHQWDVL� NXULNXOXP�
VHEHOXP�GDQ�VHVXGDK�SHQHUDSDQ�SURJUDP�IXOO�GD\�VFKRRO GL�60$�1���3DGDQJ�������
VDUDQD�GDQ�SUDVDUDQD�VHEHOXP�GDQ�VHVXGDK�SHQHUDSDQ�SURJUDP� IXOO�GD\�VFKRRO GL�
60$� 1� �� 3DGDQJ�� ��� LPSOHPHQWDVL� 6'0� VHEHOXP� GDQ� VHVXGDK� SHQHUDSDQ�
SURJUDP�IXOO�GD\�VFKRRO GL�60$�1���3DGDQJ�

-HQLV�SHQHOLWLDQ�LQL�DGDODK GHVNULSWLI�NXDOLWDWLI��GLODNXNDQ�DQDOLVLV�VHEHOXP�
GDQ�VHVXGDK�SHQHUDSDQ�SURJUDP�IXOO�GD\�VFKRRO GHQJDQ�PHQJJXQDNDQ�GDWD�SULPHU�
VHEDJDL�VXPEHU�GDWD�\DQJ�GLSHUROHK�PHODOXL�ZDZDQFDUD�GHQJDQ�VXE\HN�SHQHOLWLDQ���
6XE\HN� SHQHOLWLDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� :DNLO� .XULNXOXP��:DNLO� 6DUDQD�
GDQ�3UDVDUDQD VHUWD� JXUX�PDWD� SHODMDUDQ� JHRJUDIL� GL� 60$�1���3DGDQJ�� 'DWD� GL�
DQDOLVLV�PHQJJXQDNDQ�UHGXNVL�GDQ�GLVSOD\�GDWD�

+DVLO� SHQHOLWLDQ�PHQHPXNDQ� �� ���� ,PSOHPHQWDVL� .XULNXOXP� VHEHOXP�GDQ�
VHVXGDK�SHQHUDSDQ SURJUDP�IXOO�GD\�VFKRRO GL�60$���3DGDQJ�PDVLK�WHWDS�VDPD��
\DLWX�PHQJJXQDNDQ�NXULNXOXP������ VHEDJDL� DFXDQ��KDQ\D� VDMD� DGD SHQDPEDKDQ�
MDP� SHPEHODMDUDQ� GL� VHNRODK� GL� OXDU� MDP� 3%0�� ���� ,PSOHPHQWDVL� 6DUDQD� GDQ�
SUDVDUDQD VHEHOXP�GDQ�VHVXGDK�SHQHUDSDQ SURJUDP� IXOO�GD\�VFKRRO GL�60$�1���
3DGDQJ� WLGDN� DGD� SHUXEDKDQ� \DQJ� VLJQLILNDQ�� KDQ\D� VDMD� SDGD� EDJLDQ� PDWD�
SHODMDUDQ� JHRJUDIL� PHQJJXQDNDQ� VRDO� VRDO� ODWLKDQ� GDODP� PHODWLK� NHPDPSXDQ�
VLVZD�� SHPDQIDDWDQ� OLQJNXQJDQ VHNRODK VHEDJDL� PHGLD� EHODMDU� VHODLQ�
PHQJJXQDNDQ�33W�GDQ�LQIRNXV������ ,PSOHPHQWDVL�6XPEHU�GD\D�PDQXVLD�VHEHOXP�
GDQ� VHVXGDK� SHQHUDSDQ SURJUDP� IXOO� GD\� VFKRRO WLGDN� PHQJDODPL� SHQJXUDQJDQ
PDXSXQ� SHQDPEDKDQ �WHWDS�� EDLN� VHEHOXP� IXOO� GD\� VFKRRO� PDXSXQ� VHVXGDK� GL�
WHUDSNDQ�IXOO�GD\�VFKRRO��

.DWD� NXQFL�� IXOO� GD\� VFKRRO�� NXULNXOXP�� VDUDQD� SUDVDUDQD�� VXPEHU� GD\D�
PDQXVLD�


